



नाम: _____

दिनांक: _____ स्कोर: _____

$$(5 + \frac{3}{2})^2 - \frac{1}{2} - \frac{1}{2} \times 4^2 =$$

$$(\frac{1}{6} - \frac{3}{5})^2 - \frac{1}{6}(\frac{1}{2} - (\frac{3}{4})^2) =$$

$$(4 + \frac{3}{4})^2 + \frac{1}{6} - \frac{3}{2} + 3^2 =$$

$$((\frac{3}{4})^2 + \frac{1}{6}) \times \frac{1}{3} + (\frac{3}{2} + \frac{1}{5})^2 =$$

$$(\frac{3}{4} - \frac{3}{2})^2 - \frac{1}{2}(\frac{1}{3} - \frac{2}{5}) =$$

$$((\frac{3}{5})^2 + \frac{1}{2}) \times \frac{3}{2} + (\frac{1}{5} + \frac{2}{3})^2 =$$

$$(\frac{1}{4} + \frac{1}{2})^2 - \frac{3}{2}(\frac{2}{5} - \frac{1}{4}) =$$

$$(2 + \frac{1}{4})^2 - \frac{2}{5} \times \frac{1}{2} + 3^2 =$$

$$(2 - \frac{3}{5})^2 - \frac{1}{5} + 2^2 - \frac{3}{4} =$$

$$(5 + \frac{1}{2})^2 + \frac{2}{5} + 3^2 - \frac{3}{5} =$$



नाम: _____

दिनांक: _____ स्कोर: _____

$$(5 + \frac{3}{2})^2 - \frac{1}{2} - \frac{1}{2} \times 4^2 = \frac{135}{4} = 33\frac{3}{4}$$

$$(\frac{1}{6} - \frac{3}{5})^2 - \frac{1}{6}(\frac{1}{2} - (\frac{3}{4})^2) = \frac{1427}{7200}$$

$$(4 + \frac{3}{4})^2 + \frac{1}{6} - \frac{3}{2} + 3^2 = \frac{1451}{48} = 30\frac{11}{48}$$

$$((\frac{3}{4})^2 + \frac{1}{6}) \times \frac{1}{3} + (\frac{3}{2} + \frac{1}{5})^2 = \frac{11279}{3600} = 3\frac{479}{3600}$$

$$(\frac{3}{4} - \frac{3}{2})^2 - \frac{1}{2}(\frac{1}{3} - \frac{2}{5}) = \frac{143}{240}$$

$$((\frac{3}{5})^2 + \frac{1}{2}) \times \frac{3}{2} + (\frac{1}{5} + \frac{2}{3})^2 = \frac{1837}{900} = 2\frac{37}{900}$$

$$(\frac{1}{4} + \frac{1}{2})^2 - \frac{3}{2}(\frac{2}{5} - \frac{1}{4}) = \frac{27}{80}$$

$$(2 + \frac{1}{4})^2 - \frac{2}{5} \times \frac{1}{2} + 3^2 = \frac{1109}{80} = 13\frac{69}{80}$$

$$(2 - \frac{3}{5})^2 - \frac{1}{5} + 2^2 - \frac{3}{4} = \frac{501}{100} = 5\frac{1}{100}$$

$$(5 + \frac{1}{2})^2 + \frac{2}{5} + 3^2 - \frac{3}{5} = \frac{781}{20} = 39\frac{1}{20}$$